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Note
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HOME SCIENCE
PAPER - 1I
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: This paper contains FIFTY (50) multiple-choice, matching questions, each
question carrying TWO (2) marks. Attempt All the questions.
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2.

Which of the following food groups

provides vitamin By, ?
(A) Animal foods

(B) Nuts and oil seeds
(C) Vegetables

(D) Cereals

A consideration of all factors-
textural changes, enzymatic and
non-enzymatic chemical reactions,
micro-biological changes and cost,
foods should be frozen to internal
temperature of............c.. !

(A) -18°C

(B) -18°F

(C) -80°C

(D) -80°F
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3. Which indicator is used for

estimation of Ca by EDTA method ?
(A) Phenolphthalein
(B) Methyl orange
(C) Eosin
(D) Eriochrome Black-T
:i. Tofu is prepared by using :
(A) Groundnuts
(B) Soyabean
(C) Oats
(D) None of the above

5. The raw material used for making

butter is :

(A) Cream containing about
60-70% fat

(B} Milk containing about 30-35%
fat

(C) Cream containing about
30-35% fat

(D) Butter oil containing about 0%
moisture
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Number of ATPs, produced in citric
acid cycle are :

(A) 10

(B) 12

(C) 08

(D) 46

Follicular hyperkeratosis

(Phrynoderma) occurs due to
deficiency of :

(A) Vitamin A

(B) Vitamin K

(C) Vitamin‘ D

(D) Vitamin By

Which of the following age group of
children is beneficiary group under

ICDS ?

(A) 10-13 years
(B) 3-9 years
(C) 0-6 years

(D) None of the above
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10.

11.

Which of the following radiation

energy has bacteriocidal effect ?

(A)
(B)

(C)

Gamma rays
Infrared rays

Visible rays

(D) None of the above

The person with 30-39.9 BMI is :

(A)

(B)

Slim

Moderately obese

(C) Severely obese

(D)

Normal

The organization chart is an

effective tool of management which

does not tell us about :

(A)

(B)

(C)

(D)

Functional uanits

Subordinate-supervisor
relationship

How authority is vested in each
position

MNone of the above
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12.

13.

14.

A daily record of cash received and

payment made in small amount is
called :

(A) Petty cash book

(B) Ledger

(C) Purchase book

(D) Balance sheet

With

regards to personnel

management every manager of a

business establishment must

know :
(A) Law
(B) Food rates

(C) Legal implications of hiring
staff

(D) Formulation of Acts

Criteria to ensure consumer

satisfaction in a canteen :

(A) Variety of food and good service
(B) Safety and sanitation

(C) Color and texture of food

(D) Nutrition and cooking method
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15.

16.

“LIFO-FIFO” system is used for
operating :

(A) H.K. department

(B) F. & B. department

(C) Store issues

(D) Stockless purchases

Which of the following builds self
confidence and sense of security

with respect to clothing ?
(A) Good fibre
(B) Costly cloth

(C) Appropriate fashion

(D) None of the above

1.

‘SS’ in a paper pattern stands for :
(A) Sleeve seam

(B) Selvedge side

(C) Shoulder seam

(D) Side seam
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18.

19.

20.

Broken lines create a :
(A) Restful effect

(B) Stabilising effect
(C) Disturbing effect
(D) Sleepy effect

Some of the promotional tools used

by apparel industry are :
(A) Catalogues

(B) Line brochures

(C) Trunk/road shows

(D) All of the above

Vegetable matter is removed

through the process of :
(A) Parchmentization
(B) Carbonisation

(C) Scouring

(D)} Decating
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21.

22.

23.

24.

The most suitable detergent for

washing of woollens is :

(A) Acidic

(B) Non-ionic

(C) Basic

(D) Ionic

Huckaback design is made with :
(A) Simple loom

(B) Shuttleless loom

(C) dJacquard attachment

(D) Dobby attachment

The following helps in quality
certification of textiles in India :
(A) AEPC

(B) Textile Committee

(C) WTO

(D) NIFT

Source of cellulose fibres is :

(A) Animal

(B) Plant

(C) Mineral

(D) Chemical
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25.

26.

27.

Carding and drawing are the steps  25.

used in the manufacture of :
(A) Fabric

{(B) Yarn

(C) Filament

(D) Fibre

“Simo-Chart” is : 26.

(A) A step-by-step description of a
given task

(B) Simultaneous motion-cycle

chart

(C) A stop watch technique

consists of recording job

(D) One where symbols given may

be used to watch task

27.

The law of color area says :

(A) Light value seems to increase

the size of an object
(B) Dark color suggests foreground

and are appropriate for rugs

(C) The larger the area to be

covered, less intense color

should be used

(D) When one uses any three hues
that are equidistance on color

wheel, it creates cool effect
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28. “Synergy” is a journal associated 28,

with researches mainly in the area

of :

(A) Energy

(B) Environment
(C) Management

(D) Solar energy

29.

29. Planning function begins with

determination of :

(A) Target market
(B) Future objectives
(C) Risks

(D) Past mistakes

30. The word not associated with

consumer education is :
(A) CEE

(B) CERC
(C) VOICE

(D) CPA
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31.

32.

33.

As per Erikson the concept of
generativity refers to :

(A) Moral and Ethical obligations

to nurture future generation

(B) The desire to become a parent
by having one’s own offspring
(C) The ability to establish

financial security for one’s self

(D)
Which of the following is not a

Active acceptance of aging

principle of human development ?
(A)
(B)
(C)

Optimal tendency
Critical periods

Certain problem behaviours
are normal at particular stage

(D) Everyone proceeds at the same

pace

Young children learn motor skills

quickly because :

(A) They enjoy repetition and
imitation

Their
developed

Training helps more than

(B) muscles are not

(C)
maturation

(D) They have more play materials
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34. One of the important features of

35.

“Childs Rights” is :

(A) Only survival right is most
important

(B) When one right is violated,
other rights are automatically
affected

(C) Responsibilities are more
important than rights

(D) Poverty is the only barrier in
accessing rights

One can foster independence and

initative in children best by :

(A) Providing a series of
compulsory activities
(B) Preset drawings to colour

(C) Encouragement to plan and

carry out small tasks

(D) Constant instructions about

what to do
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36. Direct and wvisible factor which
determines the status of Non-formal

education is its :

(A) Supervision

(B) Observation

(C) Impact on people

(D) Number of programmes

37. Functional literacy denotes that

literacy must be linked :
(A) Attitudes of person
(B) Personal development
(C) Sympathetic approach
(D) Gainful employment

38. The most appropriate aid to use in
development programme in remote

areas is :
(A) Chart
(B) Model
(C) Puppet
(I¥) Handout
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39.

40.

The best approach to prepare 3g

curriculum for non-formal education

(A) Cultural approach

(B) Trial based

(C) Functional approach

(D) None of the above

In community development
programme differences between
leaders and his followers in terms

of knowledge and socio-economic

status is referred to :

(A) Homophily

(B) Cohensive

(C) Incohensive

(D) Heterophily
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41.

42.

43.

Communication in meetings will be

less effective when :

(A) People feel comfortable and

secure

(B) Have freedom from fear and

anxiety about others

(C) People feel on equal status

(D) Contribution to the discussion
is received only from important
people

The following is the feature of
globalised media :

(A)

Promotion of inter-cultural

relationship
(B) Community based messages
(C) Strengthening cohensiveness
among regions
(D) Welfare of the communities
Print media is most useful as it :
(A) Attracts attention
(B) Has large coverage
(C) Is inexpensive

(D) Is easy to obtain
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44,

45.

46.

47.

The basic requirement of effective

development communication

messages is :

(A) Theme of the message

(B) Organization of the message
(C) Clarity of the message

(D) Familiarity of the message

Effective classroom communication
mostly requires :

(A) Large number of students
(B) Interactions among students
(C) Ewvaluation by the teacher
(D) Presence of teacher

While

relationship between variables, a

trying to understand

researcher should :

(A) Attempt to partition variables/
find intervening variables as
need be

(B) Always use Pearson’s r’

(C) See that data is in the form of
ranks

(D) Never look for rival or

alternative explanations

A pre-post test control group design
is expressed using the formula :

(A) ROXO
(B) RXO
(C) RROX
(D) OOXR
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48.

49.

50.

Home Science-II

Which step is not applicable to
standardisation of a test ?

(A)
(B)

Development of an item pool

Manipulation and control of

variables
(&)
(D)

Production of normative data

Establishment of internal

consistency

A qualitative researcher can avoid

biases by :

(A) Continually examining all
steps in view of research
guestions

(B) Sharing findings always with
community

(C) Rigorous statistical testing

(D) Always wusing multiple
methods

Sample size in research is

determined based on :
(A)
(B)
(C)

Easy availability and access
Thesis submission data

Norms established by the

government

The type of analysis and desire

for generalisation

(D)
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ROUGH WORK
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